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7 GENERAL AWARENESS [ NFIRI Sreden

1.  Which of the following statements is correct
in relation to the Right of Children to Free
and Compulsory Education Act, 2009 (RTE) ?

The Act applies to the whole of India
except the state of Jammu and Kashmir-

1)

Elementary Education in this Act is
defined as education from class 1 to 6.

(2)

®3)

The Act provides for free education to
all children upto the age of 16.

No child is denied admission in a school
according to this Act, for the lack of age
proof.

2. ‘Alamgir Nama’ is the chronicle of the reign
of which of the following Mughal emperors ?

(1) Bahadur Shah Zafar
Jahangir
Shah Jahan

Aurangzeb

i
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According to the Economic Sul‘vey ¢ India
022-23, the Gross Enrolment g, tio in schools
has seen a decline in 202123 j, comparisor
with 2013-14 for which of the fo110wing

levels ?
(a) Primary
(b) Upper primary

(c) Secondary

Choose the correct answer from the codes

given below.
(1) Only (b) and (0)
@) Only (2
@ only ®)

(4) Only (c)

Which of the following is an example of a

permanent executive in India ?
(1) The Prime Minister df India
(2) A Central Cabinet Minister
(3) The Governor of a Staté

(4) A Civil Servant

3.

aRd % oTfdfw gfam 2022-23 ¥

ﬂm;
Frfafed 4 @ fret =nw 2013-14 = gorn H
2021-22131 feremerett & Wt i st 4

S3
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| | 5. B ot o 9 et 3 3
When an ant bites a human, what does 1t§ m%ﬁmwwﬁ%?ﬁﬁ?ﬁ%?ﬁ 98 39F]

injéct info the human skin ?

(1) Formic acid

(2) Sodium hydrogencarbonate
(3) Zinc carbonate

(4) Calamine solution

—_—
w2
Nt
. T, J i, lil'l-' T L n i
ol _”mu 1 i
L l]f 1l
I Mgyt

6. In which country is the first ever Indian | 6.  WRATd WETTRT TEAM (STEAES!) 1 YRd &

Institute of Technology (IIT) campus outside aTel Yeell h9d ford o1 H Tefuq faran stmam 2
India going to be set up ? -

(1) Nigeria . | | ) @
(2) South Africa . & af‘m;exm
(3) Tanzania - e WE';‘
(4) Chana " HHT;—_:

7.~ Which of the following pairs of the places of
historical significance and the countries
within which they fall, is matched correctly ?

(1) Rivonia - South Africa

(2) Versailles - Germany

(3) St Petersburg - England ;

(4) Nuremberg - France
TGT-ENG-2023 %% -4
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Which of the following industy,
awarded the Padma Bhushan »q
field of Trade and Industry ?

1iSts was
23 in the

1)
Mukesh Ambani

Kumar Mangalam Birla

Adar Poonawalla

teams won the Torneo del Centenario 2023
title ? '

1)

India

(2) Spain

(3) England

(4) People’s Republic of China

10.". The longitudinal valley lying between lesser

Himalaya and the Shivaliks are known as

(1)  Pir Panjal Range

(2)

Purvanchals

(3)

Duns

(4j Kullus

E%"Eg_ |
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(4) SIQR gAEmRT

Which of the following women'’s hockey | 9. frefafea 4 9 fog afeen =t 2w 3 2=

| 3 YA 2023 F1 fadE S 2

Vi) wma

(2) @4

(3) swis

(4) = SR TR

10. 1Y fiwrer sk Refers 3 S TS Al Sura

= - FHeardl &
AT) IR der swen

(2) yat=w

@) ==

4) e

§371
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REASONI

Bight girls G, K, P, A, D, Q, Sand Mare S%“ﬂf
around a square table but not necessarily I

: ur
the same order. Four of them sit at four

corners of the table while four sit in the
middle of each of four sides. The one who
sits at the four corners face outside the center
while those who sit in the middle of the sides
face inside. -

‘Q’ is sitting at one of the corners and she is
third to the right of ‘K’. ‘A’ is not sitting at
any of the corners. ‘P’ is sitting second to the
left of ‘K’ and immediately right of ‘S. ‘K’
and ‘D’ are facing each othet. .-Who is sitting
immediately left of ‘Q’ ? QZ@

1) G
2. D
B A
4) K

In this question, three statements are given,
followed by two conclusions numbered
(I) and (II). Assuming that the information
given in the statements are true, even if they
seem to b'e at variance with commonly
known facts, decide which_ of the

conclusion(s) logically follows/follow from
the statements.

Statements :  All caps are socks.
All frocks are masks.
All masks are socks.
Conclusions :
() Some frocks are caps.
(I)  Some masks are caps.
(1)  Neither conclusion (I) nor (I) follows
(2) Only conclusion (D) follows
(3) Only conclusion (II) follows
(4) Both conclusions (I) and (ID) folloy,

EikE
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13. Two statements are labelleq below as
; . o

14.

Assertion (A) and Reason (R),
Assertion (A) :

Government of India has banneq More than
10 years old Diesel Vehicles opn the vonds of

Delhi.
Reason (R) :

Diesel prices have increased in the past few |

years i

Select correct answer with the help of code.

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true ang (R) is |
correct explanation of (A)

(3) Both (A) and (R) are true but (R) is not

correct explanation of (A)

(4) (A) is true but (R) is false

|
|
|
|
|
|

i

Tanya wears T-shirts of seven different ;

colours Red, Green, Yellow, Blue, Purple,

Orange and Magenta on seven different days ;

of the week starting from Monday. She wears |

green T-shirt on Thursday. She does not wear
yellow or purple colour T-shirts on Friday.
She wears red colour T-shirt after the green
colour T-shirt. She wears only purple colour

T-shirt on the day between the days on which

she wears Blue and Magenta colour T-shirts.

She wears orange colour T-shirt after yellow

colour T-shirt.

On which day she wgarsgﬁ%ﬂ

ge colour

T-shirt ? N4
’!L")" g
(1) Wednesday an Fid ™
Y
(2) Tuesday F '_éiﬂ..-ﬁ

i
i
1
1

é
|
|
|
|
|
|
i

(5. A A o o ¥ o wﬁammw

14.

(A3

as (R) f=fea fam v &y
AFTHRIT (A) : .

aTd GTRT A Teeehl 1 T2 W 10 9 ¥ atfrss
O Siele el T gfaEs e e

@ (R) :
fusel T el § EIete Hi HIHd Fel ¢ |

2 H Teradl § W& IR H TG B |

(1) (A) e 8 W (R) 9l

(2) <H(A) 3R (R) 2 T 3R (R), (A) F1 T
AT

I (A) 3R (R) W& € TG (R), (A) H
e AT Tl T

(4) (A) T T TG (R) T T

=1 HIHaR 9 Y€ ' 91 99 % 9
STeTT-37er fodi § 9Id 37erT- e T ard, &9,
TeTdl § | AE AR 1 8L 01 &l I3 Fedl ¢ |
9% YHAR I T A ST 1 S G-I AL
Bl ¥ | 9% & U1 W -V F g oAl T B
A3 Tt ©1 9% A feAl & o hae STl
11 - vedt 8, fow e = et 3iX #sfer
1 A-3E ol &1 98 WA TR A-E H
G A 17 T -9 YR € |

= fohm foq Af T & -9 vedt § 2

(1) IR X
2) weEr
(3) WaEmr x
(4) wfFER X

S3

(¥ Scanned with OKEN Scanner



sections indicate the number of pers"®
‘area who buy different mgaziﬁésﬁ &

Sarita

Nandan

What is the number of persons who buy both
Champak and Nandan but not Sarita ?

TR AL M T M3 TVTL A 68013 T W8 TP ST YL L

1 12

2 3

ThenumberinEC

31 R F e fra & S T
2R W § o R w2
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'A+Bmeans ‘A is the brother of B’

iy
then how is ‘'S’ related to ‘P’ ?
) Sister
(2) Maﬁa .
(3) Mother’s mother

Tt

~ (4) Father’s mother

7. ;"-'Z"‘J{ﬁi'! first half of the following sequence is
X mﬂe second half, which letter/number/

ymbol will come at seventh place towards
ft of the fifth place from the right end ?

LKLLUAGS59H2T %9%@ 1, #

" Based on the above, if 'S—G+T-M XP4R/,

17. ?ﬁﬁﬁé@awﬁwﬁmm?ﬁm

M) % | _'

= ¥ i 08 L5 A P s 7

Yo i "'a 7 A ane JESERpee s

e = e Sy, @ 9 SR @ i Wﬁa?
T SR TS TE R R 91 e/ g/ e
G’IT'I‘TT A _ /1
SR R

-

LX]@LUAS,,&:H:T%Q@i ’
» I'u'i,':

i 9 ons LL.I :ﬂ"'ﬂrﬂb‘f.'

. _.’!utirl'-ﬁ mfv"%gﬂﬂ
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You have
ded in the
the
and

In this que:s'tion, a question is f
statements numbered (1) and (II)-
to decide whether the data provi
statements are sufficient to answer
question. Read both the statements
decide the appropriate answer.

How many students of class 11" have got
exactly 80% marks in Physics in annual
examination, if total number of students in
the class is 80 ?

@M 45 students of class 11t have got more
~ than 80% marks in Physics in annual

examination.

(I) 30 students of class 11 have got less
than 80% marks in Physics in annual
examination.

(1)  Both statements (I) and (II) together are a

necessary to answer the question

.(2) Statement (I) alone is sufficient while

alone is not ici
D : sufficient to answer the
question

(3) Statement (
(I) alone is
question

1) alone is sufficien, while
not sufficient ¢, answer ,
S

LM T ) oL T P ) ML LR ) T L MR ) P 7 AL A YL AL Tl ARARTS

18, ] w7 A A () A1)
TCE | ) 7 77 FE E o Fe § fean T
ST 1 3 23 3 e et &

»

T oni 3§ arw e § e § 9

80%3(% Hr o &2

(I)  weq 1190 & 45 foenferai = anfis oden |
fifgw faam & 80% § eifesr i wra
fFe ¥

(1) =T = e % 30 feenfefed =1 =nfes v
S shfoert for F 80% § w37 firet

|

1"]| |
|

174

\

> (1/),—" 1 IW T faw FHae (1) e (1)

gl I T W ST |

|

i

(2) TS F () TG ¥ S@fh s (1
mmwéﬁ%mmﬁ%, |

; |||IllrI“1‘
Wil

!

: (_3)3;'- FoA (I) T § S oy
HSW A & o) i A &,

Cr iy ¢
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Three statements have been given, R
followed by two conclusiong (and ().
Assuming that the given statements P i
find out which of the conclusmn( )

definitely true.

is/are

Gtatements : D' < T, Y>W, P>y
f
i . () W=sP
Conclusions (D P>/ y
& W
@)y T3Y
(1) Neither conclusion (I) nor (1) is true.
(2) Only conclusion (I) is true.
(3) Only conclusion (IT) is true.
(4) Both conclusions (I) and (II) are true.

Bhairav started from his home and travelled
50 meters towards East then turned to his
right and travelled 150 meters from there he

turned to his left and travelled 100 meters to
reach a temple. From the temple he moved
250 meters towards North and then turned
left and travelled 100 meters. Finally, he
turned to his left and moved 100 meters to
reach a point ‘P’. What is the direction and
shortest distance of his home fro

IP; ?
(1) West, 50 meters
(2) East, 100 meters

(3) North - East, 90 meters

(4) North, 150 meters

m the point

) MR PR LR S " RS | KM

LR ) T B TPAURBCLE] PR3 LSRR LS 1R LR A1 TR L L i) YA T

11

19, < o TR, o AR 2 et ai

20.

(1) few T 27w T fw g e e
¥ e o R B T (R) Frepd e sy
g e (¥)

hYA P<T, Y>W, P =2

LA T>Y
(1) 79 frsd (1) SR A & () FA €

(1) 3R (1) S & T €

S 3 37T SR Y YOI HI SR 50 HeX o i
3R e F R 3T et SR gt 150 HieR
F AT T | TR W 9 Sl SR g1 SR Tk "I
T TE % forg 100 Hiet &1 a0 @i | A |
=% 250 HeX I F S = R fE S HR
et 100 X =l | ofq H g% 1ot 9Ei AR
a1 iR foig ‘P W wga & ferg 100 HeR =a|
fiig ‘P & 3% =X 1 feen iR =g gl 1 2

120

(2) g9, 100 HeX PR
(3) SW-TH, 90 HX
(4) W, 150 HX

(¥ Scanned with OKEN Scanner



Join Telegram Group "HaryanadJobs.in"

pART - 11! | AT -y
KkNOWLEDGE OF ICT /1CT i 5

_ o dle | 21, Trefefag . :
21.  Which of the following is not a popular file | T A % w1 Aifed FEd (Audio

file) F1 Frpfiry S :
extension of an audio file ? , 3 LN (extension) T
. 'I »
(1) flac : L e :
(2) mPS | I ' l/er mp3
[€
() pdf . | (®) pdf x
(4) wav ' (4) wav
| . v
22. Out of the following, which software you E 22, HIFSR gl + Gy | Teh q@’ﬁ@_ﬁ_ﬁ_
suggest most to develop and present a - (Multimedia Presentation)ﬁ?lef 3R I&ga FA
multimedia presentation on Cyber Security ? % ¥F fau emg f=feafeg § 4 59 SRR =
TR T 1 G <71 2
(1) Microsoft PowerPoint {/ﬂf AEHIGFR T3S (Microsoft
- PowerPoint)
(2) Microsoft Edge () TEHHI® TS (Microsoft Edge)
(3) Microsoft Excel (3) TEHETR Td (Microsoft Excel)
(4) Microsoft Word ; @) MEHRER T8 (Microsoft Word)

23, Wl_ﬁch of the following is not an example of

23. ﬁﬁmﬁﬁﬁﬁmaﬁm(webbmwser)
WQEFSEI%T“TT-IET%?

' web browser ?

(1) Firefox ° ) ta (Firefox)
(2) Android \/@)’ . (Android)

(3) Opera o) it (Opera)
(4) Edge
) E'i"lﬂ ( 4) Qgﬂ (Edge)
TGT-ENG-2023 %’% , s3
12 :
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4. Arrange the following memory B
ascending order of their capacities
- e =

—

Glga Byte, Kilo Byte-’ Mega Bytefl Tera Byte

(1)

(2)

25. In computer terminology, https stands for :

(1)

(2)

Join Telegram Group "HaryanadJobs.in" -

Kilo Byte < Mega Byte < Tery B

. te <
Giga Byte 4

Giga Byte < Kilo Byte < Mega Byte <
Tera Byte '

Kilo Byte < Mega Byte < Giga Byte <
Tera Byte

Kilo Byte < Giga Byte < Mega Byte <
Tera Byte

Hyper Text Transfer Protocol Storage

Hyper Text Transfer Protocol Server
Hyﬁer Text Transfer Protocol Secure

|

i

|

|

I'I)lfper Text Transfer Protocol Scheme g
]

|

q

g

|

llowing,

26.  Select the shortcut key, out of the fo !

which is popularly used to past
(and copied)
MS Office applications.

(1)
)
®)
(4)

TGT-ENG-2023

Cul+'Z

Cul+'X’

E'ﬁ%""ﬁ-! 13
mee

aste a selected |

text or image in most of the

Ctl+'P’

Chrl+'V*

24, TrATARER HHR 9fEt 1 ST v (St
& AR SR w0 F =afeem Fitv

Giga Byte, Kilo Byte, Mega Byte, Tera Byte

| ()1() Kilo Byte < Mega Byte < Tera Byte <

Giga Byte
(2) Giga Byte < Kilo Byte < Mega Byte <
o= - Tera Byte
W Kilo Byte < Mega Byte < Giga Byte <
Tera Byte

(4) Kilo Byte < Giga B.yte < Mega Byte <
Tera Byte

25. P I W H, https F AL € :
(1) Wéﬁg‘lﬂtﬁ{m@ﬁ (Hyper

Text Transfer Protocol Storage)

(2) TEW THL AR e TR (Hypef-

/" Text Transfer Protocol Server)

[_/(3)/5&:3'4{ TR ZTIAF IRIshie faear (Hyper

Text Transfer Protocol Secure)

(4) TER TR st AP i (Hyper

Text Transfer Protocol Scheme)

26. ATUEHIY TH.TH ATHE TSI § TF TS
(tg %_Tﬁl@) THRL 1 S B W (paste) e
% for freferfiaa o @ fo wése-=T (Shortcut
key) ! Haifer FERT fehan ST & ?

1) Cul+Z
() Ctl+P

L&) cul+v

4) Cul+X

S3
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27.

28.
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The computer hardware device switch

example of :

(1) Output device

(2) Input device

(3) Storage device

(4) Networking device

is an ’ 27. giml: E(ﬁmm@a@w‘imm@w

( *TSeqe feamy (Output device)

1)
@ 12 fearzy (Input device)
©®) wnm feamrzg

A et

| 2. [l ic i - o e ————

(Storage device)
feamg (Networking device)

Which of the following is the least threat for i
- virus infection ? , - TR B g 2 .
(1) Downloaded email attachment (1) |sli:%g T S (Downloaded
email attachment)
" (2) Online printer LS s fiex (Online printer)
(3) Portable storage devices () WeTw =i feaew (Portable storage
- devices) " :
(4) Downloaded free software X (4) TS H W (Downloaded free
' : software)

29. Which type of network, generally we | 29. & 8H $© 3ifafied Aeafd fearyg R R
establish, when we connect 20 computers in had H T FF ST Thel i HP ER:
our school’s computer lab, using some 20 P 1 IIH H SSd © A WHAE 1
additio_n__z‘il networking devices and wired fhe YR AT A2ah (Network) ¥fyd &id € ?
cable ? e,

(1) WAN (1) STELT. (WAN)
(2) PAN 2) WU (PAN)
G AN E L@y w@UE. (LAN)

(4) MAN (4) TALT. (MAN)

30. ’.Which of' the following set containg only | 30. fymfofiga & ¥ e W e § haet 74
input devices ? _ £ ' :

(1) Keyboard, Mouse, Printer (1) F-are, =Y, I (Keyboard, Mouse,

2) Keyboard g =

(2) eyboar 4 Mouse, Scanner 5) F-dre, 7Y, T (Keyboard, Mouse,
. Scanner)

(3)  Printer, Scanner, Speaker @ X, THR (Printer, Scanner,
. Speakel‘)

4 P - : .

(4) rinter, Speaker, Monitor @ fiizz, T, T (Printer, Speaker,

. ' EIRE Monitor) L
TGT-ENG-2023 %%q
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v/ Hr -1
TEACHING apyyypE / Rremr st
SAuLih teacher first tells the rule and Prmclple and ! 31. ﬁ-[ﬁ’ Fe s | vngﬁ ¥ fou v e
then cites examples to explain the  concept, ﬁ-qq ST & 3R R SR S B 1 ws S
Which approach she/he is adoli'{mg ? ST T @R ?
(1) Investigatory Wb (1) @S
- Inductive (2) STATHATCHSh \/
(3) Deductive 3) s
(4) Explanatory 4) SACATHR
32. Which is not an advantage szrfcegrated ! 32, HHfA (SHULT) USIAYKIeh hi SF-dt foeima
~ textbooks ? ; | T ?
(1) Such textbooks provide support to M Tt T qdeh STHIE fareteht <hl HaraaT
inexperienced teachers. e el B |
(2) Textbook can be used as a syllabuys, (PARERICENED I ISIer/qTedshy 35 ®qH
T T THd @ |
(3) These provide readymade materials, (3) 3} TR W YSH L ¢ |
(4) These may not suit student’s individual 1)4{ 3} fernfefal & =afeama sifemm alwl &
learning styles. B 3 o Sugaa fag =1d 2t B |
33. Complete the statement : j::i 33. YA I T DT :
In teaching if nothing has been. learned, I fneror # o off T2 we T 8l $9 ot T
nothing has been !
(1) observed (1) sEaifea femmn |
(2) taught (2) vl >
(3) studied (3) eremEA T T«
(4) examined (4) =T
34. A creative student is one who has : 34. U Yerones faemeff o € foreeh ¥ ¢
(1)  Ability to solve problems AT HHE GEreE S anga
(2) Originality and flexibility of ideas (2) iferehar iR Tem@mgul foam € v
()  Above average IQ ' () WM F 3= gfg e
(4) Memorization ability :ﬂ; | 4) = F A «
35, Which kind of ICT tools is notuse- inlearner } 35. mm%ww;ﬁa‘rﬁﬁwﬁmﬁ
centred approach ? Bl S ¥ Soeied A €2
(1) . Communicative (1) wooomes
(2)  Informative (2) T
()  Situating LT Temms
(4)  Constructive (4) TR
15

ERE
El% 2

ToTENG-2023
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36. Which one of the following is nm}oi
characteristics  of ’Asgg%ﬁme“t -
Learning” ? o
(1) It provides continuous f
(2) It helps in 1dent1fymg sheng
weaknesses of every sfudent

their
It allows students to reﬂect upon

dback.
ths and

3 txons to
work so as to take speafIC ac
improve upon. £ 3

(4) It is judgmental and herlce evaluative.

37. Identify the statement which is not correct :
(1) Every supply type item can be

converted into selection type of item.

Extended response item is an essay type

item

(2)
&)

of the students. et
Matching type of item'is a form of

(4) 3

- multiple choice item. ; i

i3

B

38.  Which principle of playwa e:thod helps in
cultivating self discipline ? = h-';

1)

(2)

- (3)

(4)

39.  Which one of the following is not associated
with unit test ?

(1) Results shared with parents,

(2) Confined to hm1ted~._’é:
competencies. 2}

(3) Totally controlled by tﬁe ?teacher :

(4) Use of standardised achlevement tests,

Principle of respon'-;lbﬂlty
Principle of complete freedom
Principle of activity

Principle of creativity

40. Which one of the f0110wm
factor affecting Ieammg ?

(1)

Co-curricular aCthlh

(2) Imitation
(3) Maturation
"~ (4) Readiness

' EJ""E!
-TGT-ENG-2023 %%

FTe 4 - ¢ s 3 AT
1 T i 4 7 =
- T PR wftrgfe wem @ 31
() = o fornoft =t wmeiadi st ST
: I TEE T 2
(3) T® femnfofai =y oty sl = aeien =
ST v g g e

T |
‘/f/“gﬁ"hm%m Hedish 3

37, O o v W g A
(1) % 9ty F w1 1 =997 TR F
T Y uRafda foren s g 31

(2) forega ST o W fFaremerss 9o Bﬁ%ﬁ!

THTS ThR % e Terenfefai st geriors
T T 7Y Afre SR B B o

AfeT (Eh%a?ﬁmé)magﬁaa—@ﬂa
TN B TEH TFR G

38. wo fafy = wH-w fogra @ oA 3=
L we T wEEE e R

L@ swefae 1 fagr

(2) qui T # fasra

(3) Toramiter =1 fasr

(4) oA 1 fagr
39, fifeha # § i ST T § g 6 87

(1) o i e @ ==t 2t 2
2) Terett ot Hifid Sen 2Bt €1

A4) Wmﬁaqﬂmwml
40. ﬁqﬁaﬁ@aﬁq—mwﬁwﬁw@w
qqrfaﬁm%?
1) Wmmﬁ
L
16 v

)

G Scanned with OKEN Scanner



) (®) D) (
(3) (D) (E) (B

)
C) (B) (&)
) (&) ©

Join Telegram Group "HaryanaJobs.in"

(3)  She practices withraft in the play.

PART -V
ENGLISH |
(41-45) Choose the sequence in which the o ;0 | 45. (A)  quite it
}umbled words/ phrases can be rearrange ¢, fbrri (B) heis
a correct sentence in each cgse : (C) shortsighted
41. (A) the ; ' that he i
(B) of money - (D) B
(C) not appreciate * (E) except
(D) value - (1) (D) (©) (A) (B) E)
(E) hedoes- . (2 B (D) © B)(A)
1) O 6 @) © ®) T ) © [ < ) (&)
2 (B)(© (A) D) B 4) (B) (B) (© D) (4)
3) (8)(©) D) ®A) E)
_ @ ODEER (46-65) Choose the option that correctly answers
- 42. (A) innocent the question in each case. :
(B) noE know | 46. Which of the following newspapers/
(C) heis magazines was NOT edited by Khushwant
(D) whether Singh ? :
(E) Ido 1 L
1) (© D) ®) E @ 0} ; Do i e |
) (E) (©) (D) (B) (A) E (2) The Illustrated Weekly of India
(4) (E) (B) (D) (C) (A)|_— (4) The Indian Express
S () Meafe 47, “Th ali d’ is th
(B) k her jewel . ‘The quality of mercy is not strained” is the
(C)) Sﬁzps S opening line of a speech delivered by
(D) thisis . in ‘“The. Merchant of Venice'.
- (E) where (1). Bassanio
1) (A) B) (C) (D) (E) _f2) Portia |
- (@ (B)(© (&) (D) E) (3) Perdita
@) (D) (A) B © B) @ Jessica
(4) ()()()(E)(D) .
4. (A) Ram will 48.  Why is Lady Macbeth called the fourth witch
(g) repentant in Shakespeare’s play ‘Macbeth’ ?
(C) that j (1) She is actually related to the three
(D) not forget ,
(E) heis . ! witches.
(1) (A) D) (© (E) (®B) L/ ; «~(2) She joins the three witches in their
g dance. ' '
|

@ (®) © &) D E

=5 !
i TGT-ENG-2023 %%&

(4)  She taunts Macbeth to kill King Duncan.
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_ 54. Which, . . .
49. Who in his novels created an imaginary toWI! Wl‘itten(:)ne of the following poems was not
called Malgudi ? O Y Robert Frost ?
(1) Ruskin Bond 2 € Cry of the Children
A2)  RK. Narayan M(3) Nendmg Wall
(3) R.K. Laxman @ othing Gold Can Stay
(4) Mulk Raj Anand The Road Not Taken
'50. Who were the principal members of the grouP | 55. Who
. amo - ;
called ‘The Lake Poets” ? . | for Childrng ;he following has written mostly
i en ¢
(1) Wordsworth; Coleridge; Southey | 1
il (1) Mulk Raj Anand
- A2)  Wordsworth; Coleridge; Shelley B mE
(3) Coleridge; Shelley; Keats 3 'R. ; -Narayan
(4) Wordsworth; Coleridge} ‘Keats uskin Bond
(4)  Anita Desai
51. Which novel of Hemingway describes how
perseverance and dignity can help one battle )
. 56. Shaw 1 ‘ ’
through the struggles of life ? 2 P, s and B - Man
(1) The Sun Also Rises () sh __.th ondribe eiliad i
: shows that o e bo e bra
_{?)  The Old Man and the Sea § it & war y an "
3) For Whom the Bell Toll
G) om the bell Tolls i (2) celebrates the glory of war
(4) A Farewell to Arms g
: t.(3) * denounces war
52.  What message does Keats’s ‘Ode on a Grecian g (4) describes war as something romantic
Urn” Convey ? . g :
(1) The Greek_s were great patrons of art, i 57.  Which poem of Keats begins with the line :
V@) bA g yon il | ‘A thing of Beauty is a joy forever’.
eauty. ,
3) An i . lic and ' b . (1) Lamia
urn is a relic an t -
' must be preserved. I/{Q) Hyperion
(4) A work of art is a source of poetic .
inspiration. (3) Endymion
: (4) The Pot of Basil
53. V\fl];iclh h/;exican writer wrote ‘The Labyrinth |
of Solitude’; “No Mo i ’. .
etc. and won the N lzelcPh'CheS o Bndge’ 58. Which poem of Robert Browning describes
. obel Frize in 1 ) r . )
1‘990 ? m thgrafure n ? the futile love of. a :amous [talian painter for
(1)  Ana Clavel E his wife, LucreZIaI;
ia’s Lover
‘)2) Octavio Paz g (1) Porphyria Sd i
' i e
(3) Juan Rulfo g (2) The Last Ride logether
(4)  Sergio Pitol | 8 Andrea DelSarto
| Raobi b Bar
TGT-ENG-2023 %
18 i
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g WO wrote ‘Things Fall Apary, his firét ! 65. An elegy written on the death of Keats by

novel ?
(1) Kofi Awanoor

(2) Chinua Achebe

14 .

- (3) Wole Soyinka
) Alex La Gume

0. Often considered the national poet of Chile,
won Nobel Prize in Litergty;pe in

1971.
(1)
(2)

L A3)
(4)

Jorge Luis Borges

Pablo Neruda

Isabel Allende

Gabriel Garcia Marquez

61. In ‘Othello’, Desdemona falls in love with
Othello. Othello is a
(1) king
\2) merchant
(3) general
(4) prince
62. In the play, ‘The Tempest’, Ariel was

imprisoned in a/an by the witch
Sycorax.
(1) tree
(2) fort
(_B) castle
(4) island
63. Which poem written by Coleridge is called a
dream poem ?
(1)  Frost at Midnight
L42) Christabel
(3) Kubla Khan
(4) The Rime of the Ancient Mariner
64,

In how many plays of Shakespeare does

Falstaff appear ?

1) 4

(2)
L)

(4)

EE
TOT-ENG-2023 S35

1
2
3

l

Shelley is named :

(1) On a Dead Violet

V(z)' Ozymandias
@) - Adonais
(4) Alastor

(66 - 70) Read the passage given below and
answer the questions that follow :

The tourists who come to India to discover
an ancient culture find it in the amazing
monuments strewn carelessly across the land. They
have read about spiritual India, and see it in the

‘soaring pinnacles of the temples of South India and

in the devotees taking a dip in the Ganga. The
diversity of food and dress devours the reels in their

| cameras. They buy handicrafts at cheap prices as

proof of the incredible exotica they had been
promised.

They find modern India in the English
speaking Indian and the high - rise buildings in the
metropolises. The filth and poverty is nauseating. -
Some time is spent in arguing how a nation which
professes to be non-violent can explode a nuclear
bomb. But soon the visit is over. The visitors return
home, wondering how such a vast country has held
together, and how its ill-clad hordes have voted

f?r s0 long to remain ard;émocracy.
66. " What contradictions do the tourists find in
India ?
l_/(f)
@2

Both (2) and (4).
A country/society that preaches
non-violence possesses atom bombs.

() Our economy is riddled with
corruption.
(4) Our rich neighbourhoods are
surrounded by poverty and filth.
S3
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67. Where do the tourists who come to dis

spiritual India find it ?

(1) both (2) and (4) |
A2) in the temples of South India

(3) in the ancient monuments |

(4) in the ashrams along the banks of the

Ganga

68. ‘ill - clad hordes’.

- The word ‘hordes’ does not mean :

(1) * herds
(2) crowds | -
(.3) masses

‘ l/(4)/ throngs -

69. They buy our handicrafts as :

(1) they want to patronise our craftsmen.

(2" they are inexpensive. !

(8) they are incredible exotica.
(4) they are hand-made.
70. India has become modern as :
(1) the tourists often come ac :
touts. a Cheatlng
(2) most of the Indians g ;
peak f] -
English. fean
(3) our big cities are dotted With hj
n PR
buildings. _lgh Hie
_A%) both (2) and (3) |
" !
E’@' 0] i
TGT-ENG-2023 i
20
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71 - 75 L *
iu‘ISWQrz Read the passage given below and
he questions that follow :

IIl 3 Fl
. tennis, J g Open’ and ‘French Open’ are
mlSI‘lOmeIS’ bu’[ o

hess opens are really open.
Aﬂ}’body can pla

¥, subject to first-come, first-
served anq graded entry fees; strong titled players
are often paiq appearance fees while untitled
plaj‘fers Pay a fee for the privilege. Some of those
Indian youngsters already earn appearance fees,
while others are headed in that direction.

Over 33,000 Indians regularly play formal,
rated events. This dwarfs participation from
anywhere else and the massive pyramid is one
reason why the coﬁntry’s chess profile has gone
stratospheric, There are 74 Indian Grandmasters,
many under 20. There are 125 international
masters (ditto in terms of age), many within a step
or two of moving up the ladder. And these boys
and girls have swept age grbups medals, while the
team has won the Online Chess Olympiad.

Chess has been around for millennia and
generally believed to have originated in India. But
the rules have changed many times and there have
been radical changes in playing formats in the last
few years. So it is with India; there is indeed a love
affair between Indians and chess.

71. Which of the following statements is right
and which is wrong ? |
(A) Chess has been played in India for
millions of years.
(B) Rules of the game have undergone a
ch.ange over a period of time.
1) Both (A) and (B) are wrong.
; 2 A) is right and (B) is wrong.
\ (3) (B) is right and (A) is wrong.
e W th (A) and (B) are right.
s3
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72. Wh1ch of the following Statemenyy - —
rig

(1) There is a ladder on v __]JiCh i et
players are climbing, ¥

In a chess tourname_ f‘

2 : §very player is
entered on fust—come 'fSt~served basis.
¥ (3) All chess players are-pald appearance

fee for taking part 111~ j_ﬁe fousmaient

Regular Indian chess players are more
in number than the numpey of players
from any other country,

73. ‘US. Open’ is not an accurate name for this

tournament. Why ?
Both (2) and (3)

(1) e 4
(2) Itis anindoor gam 2y
(8) The spectators sit in-es ered stands.

to anyone who

o

. headed in the same difection’. The word

‘headed” here means :

74.

(1)  shook heads
(2) moved towards
(3) moved heads

turned heads

Ly

75. Why are Chess Opens reaI. 7 Q

L] Anyone can join the tcﬁurnament

(2) They are played in the C‘Pen
(3) The spectators too ] V
open. b
(4) Only important players are allowed to

play.

EIRAE]
TGT-ENG-2023 %%
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(76 - 80) Read the passage given below and
answer the questions that follow -

Let me explain. Trecently went viral. Which
is to say, I caught a virus, a miserable one, that one
night pinned me to the floor, knocking me out. The
next morning, as I was admitted to the hospital, I
felt that familiar, comforting feeling of having zero
responsibility. Three days later, I left the hospital
but with one familiar feeling of dissatisfaction.

It's odd to say this, but I am not averse to
hospitals. All those life-saving facilities do make

‘me feel, well, safe. Medicines, too. Yes, one would

much rather be healthy. But since mindfulness, or
yoga cannot, in fact, prevent or cure all human
afflictions, I am grateful to hospitals and doctors.
I am even more grateful for that stray wave of good
sense that made me invest in health insurance
before my latest visit (the alternative was a trip to
Thailand). In fact, I am positively brimming over
with financially solvent pride.

People incessantly complain about “hospital
ka khaana” (hospital meals). But from plasticky
tea in a flask to the soup that tastes like tears, what's
not to like ? Okay, let me rephrase. You are ill and
being served in bed, which is a privilege. And the
moment you start complaining about the taste of
the offerings, you know you're getting better and

it is time to go back home.

76. ‘People incessantly complain

Which one of the following does not mean
the underlined word ?

(1) consistently

(2) occasionally L/
(3) steadily

(4) repeatedly

S3
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77. The writer ‘does not feel averse to hosp® school shﬂ];.ﬁd 4
as :
(1)  Nurses look after her. [/azf espected madam
(2)  She feels safe there. W) (2)
(3)  She gets medicines. {al () M

w She does not have to cook H"‘meals
78. When one is about to get curedegle feels

‘ru

that : :

(1) there is a smile on the nursé-s?f‘ace
(2) hospital lunch becomes tastefess
(3) soup tastes like tears E___—‘

L)

79. Why did the narrator ‘go viral’ ?
(1)

(2)

(3)

80. What had she done just before falhng ill ?
(1)
L3
(4)

81. A letter of complaint to the._g_d;_tm of a

both (2) and (3)

Her post became viral on Facebook..
She fell down on the floor.

She got knocked out in the field.

She suffered from a viral fever

gone on to visit Thalland
started practising yoga g

bought health insurance s
had become mindful of healthy living

newspaper shall begin with :
(1) How badly have the floods affected the
low - lying areas . . . ..

It is my proud privilege to inform

(2)

(4) Our colony is not cleaned gm_Peﬂy

82. Closing of a letter to the- M‘amupal
Commissioner from a citizen wﬂ]fe

(1) Yours affectionately L
v A2) Yours sincerely m
(3) Yours obediently -ﬁh

(4) Yours faithfully

L S T T . ] 1

84.

85.

86.

Madam

Report on an event shall not include :
(1)  Name of the writer

2)  Topic of the report

Purpose of the report

4)  List of books consulted W

In which order shall the following be written

in a notice ?
(1) Topic; Content; Issuing authority;
School Name

Topic; School Name; Content; Issuing
authority

School Name; Topic; Content; Issuing
authority

Issuing authority; Topic; Content;
School Name

(4)

To make the teaching-learning process
interesting, a teacher made use of gestures to

tell a story to the class. Then she tasked the

students to draw pictures based on the story.

What was her purpose ?
to encourage an extra-curricular

(1)
activity.
(2) totest the drawings and colouring skills ,.:
of the students. i
(3) to obtamdxsaphnemﬁ;edm

1o assess their comprehension of

(¥ Scanned with OKEN Scanner
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dass 'I'he Purpose of this task is:
1 to help students to correct their errors.
(2) teaching the rules of English Erafmar.
@) to develop ﬂuency In spoken English.
f/@ to facilitate conversation through

language practice.
Miss Kamla brought pictures of various
objects to the class and hung them across the
walls. The students were tasked to see them
and told their names in English and thep, she
introduced alphabet to the class. This
approach is called :

(1)
(2)
LB

4)

89. The English teacher of class VIII asks her
students to choose the best poem in their
textbook and then read the poem aloud and

88.

Top-down approach
Eclectic approach v A

Bottom-up approach

Learning across curriculum

then explains the poem. Her major aim is :
1)
(2)
(3)
&

to train them to be poets

vocabulary development

teaching of language structures

to make them appreciate and enjoy

poetry

90. Ina Delhi school students from all over India
are admitted. So the school is a multi-lingual
school. This factor can be used as a resource
S0 that :

teacher can also become multilingual.

every child feels comfortable and

secure.

every child participates in the teaching-

| b, 1eammg process.

Chlldmn learn to mix with each other.

i
|
|
|

: by nature, he occupies the last bench

' the middle school.

\/

~Join TelecﬁaH‘GF’oup "Ha |

classroom. He was one of the toppers in;eia;m 8in
The maths teacher mostly

remains close to the blackboard aloof from the dasa

In the first monthly test, Kamal could secure only S
50% marks. He was not the only one who did
poorly in the subject.

On the basis of your understanding of the
above case-study, answer the questions given
below :

91. Why did Kamal join this school in class 9 ?

(1) The new school was known for its good -
results.

He wanted to join a good school.

His previous school was only till
class 8.

The new school was closer to his home.

92. Why did he take the last bench in the

classroom ?
(3 Both (2) and (4)
(2) He was new to the class.
(3) The teacher made him sit roll number
wise.

(4) He was shy by nature.

93. How can the teaching-learning process be

improved in the class ?

(1)  The students” seats should be regularly
rotated.
' (2) The students need to take more mterest R
in the subject.

_ \/(,3-)’ The teacher should attempt a closer -

bond with the students. v~ =y SR

(4)  She should prepare he er lesson
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e Why did Kamal slip down 1" b
performance ?
(1)  He could not see blackboard deaﬂ}f'
'\)’2{ He found the method of teaching
1}11interesting.
(3) He was new to the school.
(4) He sat on the last bench.

95. Why was the math teacher not Very

successful ?

(1) Her students were not disciplined-
(2) She was preoccupied with the
blackboard.
Q}S) She had no interaction with her
' students.

W She was indifferent to whether the
students understood her or not.

(96-100) : Answer the following questions based
on N.E.P. 2020.

96. Every recognised school shall be inspected
once :
(1) at the discretion of the Director
(2) each calendar year|
(3) each financial year
(4) in two years
97,

Management Committee of g Tecognised
aided school shall consist of not more than

© members.
1 20
@ 15 v
3) 16
@ 17

. .
TGT-ENG-2023 %%f\ ;
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| 98- Involvtlelfmnt of

i‘nthe;.

(1)
(2)
(3)
(

parents shall not be required

financia] management

academic matters

3 games and sports

4 o ¥ e
) co-cutricular activiies L~

99. Sanctioned strength of the teachers shall be

notified by the 315t December every year
based on enrolment of students as on :

@ﬁ)

(2)
()
o

100. Inspection report lof the school shall not

31 July

1 August

include :

Dates of last two inspections
Date of establishment of the school

(3) Subjects taught in the school

W Names of feeder schools

§ 101. Identify the tense in the following sentence.

Sita is going to leave for London tomorrow.
(1) Future Continuous \_~

(2) Present Continuous

(3) Present Indefinite

(4) Future Indefinite

S3
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(102.106) Choose the option in which VOICE of

the given sentence has been correctly Change d

102. You aré requested to close the door,
(1) The door has to been closed,
(2) Let the door be closed.

). Please close the doqr. —

(4)' Close the door.

105;. Kamal is singing a song.
(1) Kamal has been singing a song,
(2) Asongissung by Kam&l_
3y A song is being sung by Kamal.
(4) Kamal has sung a séng.

104. Ram can do it now.
(1) Now it could be done by Ram.
\ (%" It can be done by Ram now.
(3) Itcould be done then by Ram.

(4) Now it can be done.

105. The peon will have to ring the bell.
(1)  The bell has been rung by the peon.
(2)  The bell will be rung by the peon.

+{3) Thebell will have been rung by the peon. |

(4)  The bell will have to be rung by the peon.

106. Can you run a 100 metre race ?

(107—108) Choose the connector with which the
following pairs of sentences can be combined.

107. (a) Ram was slow in the beginning,

(b) He won the race.

| (1) if
(2) since
(3) as
4) yet \/

108. (a) You want to win the match.

(b) You will have to work hard.
(1) although
(2) since

’ (3) however
(4)

though "

s T

(109-113) Choose the option in which thej
underlined clause in each of the following
sentences has been correctly identified.

E 109. Hereplied that he worked whenever he
liked. '

(1) Adverbls— .

(2) - Principal \/

(3) Noun
(4)  Adjective

L Can a 100 metre race be run by Y‘:"-1 g LT has been seen that virtue is its own reward
) A 100 metre race caﬁ be run by you ? (1) Adverb
e 1 you can run a 100 metre race. (2)  Principal \—
(4) Can a 100 metre race be run. | (3) Noun
| (4)  Adjective * -
TGT-ENG-2023 %ﬁ 25
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112. Rita will study whenever she likes -

(1) Adverb w#& “oJ
(2)  Principal

(3) Noun

(4)  Adjective \"

113. Ihave read the letter you sent me last week .

(1) Adverb

(2) Principal -
(3) Noun W7
(4) Adjective

(114.-118) Choose the option in which the Part of
Speech of the underlined word has been correctly
identified.

114. The chances are even.

(1) Verb
(2) Preposition
(3) Adverb
(4) Adjective L—
115. If we except Hari, all of us wil] pe blamed.

(1)_- Preposition
(@) Adjective \/
B) Verb W

@) Adverb

1 !

(@) s |
| @re
| ;

120. The wind being favourable * the s
away. ;

()l

2

117,
(1) Adver
() Pronoun
(3) Adjective "
(4)  Preposition 3
o
118. Both of them are alive. 3
| (1)  Conjunction
(2) Pronoun .
(3) Adjective\ _—
4) Adverb

(119-120) Choose the punctuation mark te
i correctly replace the *. = |

119. If you prick us, do we not bleed *
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PART - VI
, GENERAL ENGLISH '
" i ith - he option in which VOICE in the
121-122) Fill in the given blanks with Ef'::arrect 126. ;_T‘l;gs:e;mcs has been changed mm@?
yptions. N\ Who is knocking at the door ?
your letter yesterday. (1) (1) The door is knocked at by whom ?
& f:lrmreceive g:__:l (2) By whom is the door bemg knocked ?

(2) received
@) have received

(4) had received i

22. Bread and bufter to be pm b

(1) are going

(2) are

(3) has

(4) have " ]

23. Identify the part of the sentence that has an
error in it.

This is the only one of his novels that are

(D) (B) ©
not worth reading . —
(A)
1) (D)
(@) (A
@) (B)
@) O

24. Choose the word nearly opposite in meaning
to the given one.

DAMAGE
(1) Wrong x
(2) Rupture *
(3) Mayhem

S P RMCE Y Y M LA A ol 4 S e AT W TP T WAMMLE TRt

| (4) Compensation \gf/

25. Fill in the blank in the given sen{e&?e by
choosing one of the given options. ©_ |

Copper is useful metal?"—‘-:____;_%
(1) no article B %
W D
(4) the '
} GTENG-2023 BE,
|
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By whom is the door being knocked at.
By whom is the door being knocked
at ?

Iy
127. Identify the Tense in the given sentence.
Ram should have gone to the market.
(1) Present Perfect
(2) Past Indefinite

A3) Past Perfect
(4) Future Indefinite

Choose the sequence in which the following
words/phrases can be rearranged to form a
correct sentence.

(A) whether -

(B) be true

(C) she -

(D) itcould -

(E) wondered -

1) (©)E @A) @) ©

2 (B (©) D) (E) &)

(3) (A) (D) (E) (B) (©)

4 Q) E) A) (D) (B)

128.

129. Choose the option which nearly means the * -

same as the underlined idiom.
He bids fair to rival his father as a lawyer.
(1) seems likely
(2) much opposed
(3) not qualified
(4 trying very hard

130. Choose the word nearly similar in meaning

to the given one.
COURAGE

(1) Cowardice

(2) Fortitude \_—

(3) Virtue

(4) Hesitation
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PART - VI

ENGLISH
141. Choose the COnngctor which can Correctly | 146. (A) post office
combine the twWO gIVen sentences to fory, . | (B) over
Jex sentence.
COmPYOu can borrow the book. (C) take
(@) I to return it t (D) - to the
b) You have (8] OmOI‘I()w_ ;
(1 nless (E) this parcel
S s 0 @ © )@ @
(3) provided 2 ®) © @A) D) E
| . (4 since @) (© () (B) (D) (A)
‘142. Identify the TENSE in the following 4 ) © (A) (B) (B)

sentence : . .
| Lata will be going to Delhi tomorrow,

(1) Present Continuous
(2) Future Indefinite
(3) Future Perfect

(4) Future Continuous

' 143. Choose the option in which VOICE in the
' given sentence has been correctly changed.
, My father shall write me a letter.
| (1) 1 shall be written a letter.
(2) A letter will be written to me by my
father. _
(3) A letter shall be written me by my
father.
(4) Iwill be written a letter.

'144. Identify the clause of the underlined
expression of the following sentence.

Ram knows that Lalit is going to help him.

(1) Adverb
(2)  Principal
(3) Noun

(4)  Adjective

(145-146) : Choose the sequence in which the
following word/words can be rearranged to form
Correct sentences.

145, A) 1

B) say so

C) since

D) believe it

) you

1) (D) (© (4) () E)

2 (©) (B) (B) (A) (D)
) (B) (©) (A) (D) (E) .

@ @A) © @ E) D

Bl E
3 TGT-ENG-2023 %‘%
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147. Identify the clause of the underlined
expression in the following sentences.

Lalit would not do it even if you paid him

(1) Principal

(2) Noun
(3) Adjective
(4) Adverb

(148-149) : Identify the part of speech of the
underlined word in the following sentences.

148. Tt needs to be done with care.

(1) Adverb
(2) Noun

(3) Pronoun
(4) Verb

149. What does he want ?

(1) Adverb
(2) Noun

(3) Pronoun
(4) Adjective

150. Choose the punctuation mark that will
replace the * mark in the following sentence,
What happened then * I do not know.

1

(2) .
()
4) -

S3-
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1. The manner in which the different questions are fobe answebefmefe‘_’ hm
explained in the Test Booklet which you should read carefully
answering the questions,

2. Outofthe four alternatives for each question, only oné circlefor the m”e":
answer s to be darkened completely vith Blue Black Ball Point Peno
Side-2 of the OMR Answer Sheet. The answer once marked s not ||a.bie
tobe changed. In case more than one circleis darkened, the question
will not be assessed.

3. The candidates should ensure that the Answer Sheetis notfolded Do not
make any stray marks on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the Answer Sheet.

4. Handle the Test Booklet and Answer Sheet with care, as under no
circumstances (except for discrepancy in Test Booklet Code or Number
and Answer Sheet Code or Number), another set will be provided.

5. The candidates will write the correct Test Booklet Code and Number as
giveniin the Test Booklet/Answer Sheet in the Attendance Sheet.

6. A machine will read the coded information in the OMR Answer Sheet,
Hence, noinformation should be left incomplete and it should not be different
from the information given in the Admit Card.

7. Candidates are not allowed fo carry any textual material, printed or written
bits of papers, pager, mohile phone, electronic device or any other material
except the Admit Card inside the examination hall/room

8. Mobile phones, wireless communication devices (even in switched off
mode) and the other banned items should net be brought in the examination
halls/rooms. Failing to comply with this instruction, it will be considered as
using unfair means in the examination and action will be taken against them
including cancellation of examination

9. Each candidate mustshow on demand hisher Admit Cardto the Invigilator,

10. Nocandidate, without special permission of the Centre Superintendent or
Invigilator, should leave his/her seat.

11. The candidates should not leave the Examination Hall/Room without handing
over their Answer Sheet to the Invigilator on duty and sign the Attendance
Sheet twice. Cases where candidate has not signed the Attendance Sheet
second time will be deemed not to have handed over theAnswer Sheet and
dealt with as an unfair means case. The candidates are ajso required to
put their left hand THUMB impression in the space provided in th
Attendance Sheet. X

12. Use of Electronic/Manual Calculator is prohibited.

13. The candidates are governed by all Rules and Regulations &
Body with regard to their conductin the Examination H aili;folze Examining
of unfair means will be dealt with as per Rules ang Regul i All cases
Examining Body. . ulations of the

A
14. No partof the Test Booklet and Answer Sheet shall be
circumstances.

| sheet to the Invigilator in the Hall | meh',-",,:m“““mm
| allowed to take away this Test Booklet with the, - U3teS are

d&ached under any
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